Best model for HELP_J120459.859-023208.853 at z = 0.983 x2=3.22

OPTx2=3.4 IRy2=4.5 threshold (OPT IR)=15.86 [um]

2 ] Stellar attenuated
10 e e Stellar unattenuated
E —— Dust emission
1 ] —— AGN emission
10 = Model spectrum
] ® Model fluxes
100 i M oObserved fluxes
> ]
- _1 i
é 10 EWI!PI\"""‘M"
X 10-2 ]
10—3 4
] []/
—4 _
107"y Am
%< ]
-5
=075 ;
© 1 - ==f=(Obs-Mod)/Obs
5 ]
S ]
b ]
8 o+-HrHHT¥#p------—--------- e
o ]
2 ]
5 ]
© —1 T URaR T T — T
cqé 100 10! 102 103 104 10

Observed wavelength [um]



